
Quick Start Manual

������������� �����������������
���

��	�
���	��

1

Propeller Protection Duct

Lipo Battery Strap

1mm FC Protection  Board

M2 - 18mm

2.5mm Carbon Fiber

Analog VTX  TPU Mount

14mm 3D Base Mount

x1

x1

x1

x5

x1

x1

Analog Antenna TPU
Mount & Ring

RunCam Link TPU top 
Mount & Ring

RunCam Link TPU 
Bottom Mount

Flex25 TPU Accessories (HD Version)

Flex25 TPU Accessories ( Analog Version）

Note: The accessories enclosed in the two black rectangles above will be shipped 
according to the corresponding version(HD/Analog)

A

Part 1. Package

2



14mm nano camera 
installation position

Battery installation 
position

Receiver installation
position

Antenna installation 
position

6pin HD Recording Cam 
cable connector

USB connector

HD recording 
camera position

RunCam Link 
3D Mount & Ring

FPV Cam ScrewB

Part 2. Drone Structure Explanation

Note: The accessories enclosed in the two black rectangles above will be shipped 
according to the corresponding version(HD/Analog) 2

FC Protection TPUHD Camera 3D Base Mount

M2.5 - 15mm

x1x1

M2.5 - 16mm

M2 x2.3mm(Height)
Press Nuts

M2 - 7mm

M2 x1.53mm(Height)
Press Nuts

x2

x10

x8

x4

Motor pad (9mm)Motor pad (2mm)

x2 x2

M2 - 14mm

x7

x10

M2 - 12mm

x5

H

M2 - 12mm

x8
DC

M2x3mm FPV Cam Screw

x3
B

E M2.5 - 6mm

x8
F

G

JI
3



M2 - 14mm*10pcsC M2 - 7mm*10pcsE

M2 - 12mm*8pcsD M2.5 - 6mm*8pcsF

M2.5 - 16mm*8pcsG

Analog Version

25-28mm

Analog VTX installation 
position

RunCam Link 3D Bottom
Mount&2 pin TPU

25.5x25.5 AIO 
installation position

Motor installation 
position

C
ED

F

G Duct bottom screw

Top plate screw for the 
Aluminum Standoff

Short screw for 
Motor #2 and #3

HD recording 
camera mount screw

Top plate screw for the 
AIO flight controller

Long screw for 
Motor #1 and #4

Part 3. Screw Installation

7

5



9mm

9mm

2mm

2mm

Receiver TPU Mount

Analog VTX TPU Mount

GND- BAT+

GND- BAT+

HDAnalog

M2 x1.53mm(Height)
Press Nuts

M2 - 12mm*5pcsHI

Analog Version

BAT 5V GND CC RX TX

6Pin HD Recording 
Cam Cable

Type-c

5V G D- D+

G

H

I

Press Nuts

Analog VTX Installing screw
(from bottom side of the top plate)

Duct bottom screw

6

8



G

I

HD Version

HD Version

M2 - 14mm*10pcsC M2 - 7mm*10pcsE

M2 - 12mm*8pcsD M2.5 - 6mm*8pcsF

M2 - 12mm*5pcsH M2 - 18mm*5pcsA

M2 x1.53mm(Height)
Press Nuts

I M2.5 - 16mm*8pcsG

Top plate screw for the 
Aluminum Standoff

Top plate screw for the 
AIO flight controller

C
ED

F

G

A

H

DJI Unit Installing 
screw(side mounted)

Duct bottom screw

Duct bottom screw

Press Nuts

Short screw for 
Motor #2 and #3

Long screw for 
Motor #1 and #4

VTX Installing screw
(from top side of the 
top plate)

9

8



圈圈

电池绑带（18mm）

1mm飞控保护2.5mm机身

tx800+2p打印件

14mm机头座

x1

x1

x1 x5
m2自攻螺丝 (18mm)

x1

x1

模拟天线座 + 圆环 RunCam Link座 + 圆环

RunCam Link底座+2p

高清版配件

模拟版配件

提示：方框内配件跟随版本配送

A

Scan the QR code to get the installation guide.
We recommend you scan it through the SpeedyBee App 
for detailed instructions.

请扫描二维码获取安装指南
建议您通过 SpeedyBee  App 扫描以获取更详细的安装指南

一、包装清单

2

1



飞控保护tpu

14mm nano摄像头
安装位置

电池安装位置

狗8底座

m2.5铝柱(15mm)

x1x1

m2.5内六角螺丝 (16mm)

m2压铆螺母 (2_2mm)

m2内六角螺丝 (7mm)

m2压铆螺母 (2_1mm)
x2

x10

x8

x4

高电机垫(9mm)低电机垫(2mm)

x2 x2

m2内六角螺丝 (14mm)

x7

x10

接收机安装位置

天线安装位置

6pin位置

usb位置

外挂相机位置

摄像头固定螺丝

RunCam Link座 
+ 圆环

m2自攻螺丝 (12mm)

x5

H

m2内六角螺丝 (12mm)

x8
DC

m2内六角螺丝 (3mm)

x3
B

B

E m2.5内六角螺丝 6mm)

x8
F

G

JI

二、飞机各部件标注图
3

4



9mm

9mm

2mm

2mm

BAT 5V GND CC RX TX

接收机固定TPU

图传安装TPU

GND- BAT+

GND- BAT+

高清

6Pin高清录像机排线

Type-c

模拟

25-28mm

模拟图传安装位置

高清图传安装位置

25.5x25.5 AIO
飞控安装位置

电机安装位置

5V G D- D+

5

4

6



m2内六角螺丝 (14mm)C m2内六角螺丝 (7mm)E

m2内六角螺丝 (12mm)D m2.5内六角螺丝(6mm)F

m2.5内六角螺丝 (16mm)G

G

I m2压铆螺母(2_1mm) m2自攻螺丝(12mm)H

H

I

模拟版

底部圈圈螺丝

底部压铆螺母

底部图传螺丝

C
ED

F

G 底部圈圈螺丝

顶部铝柱螺丝

电机长螺丝

电机短螺丝顶部飞控螺丝

相机座螺丝

三、螺丝安装说明

7

8

模拟版



m2内六角螺丝 (14mm)C m2内六角螺丝 (7mm)E

m2内六角螺丝 (12mm)D m2.5内六角螺丝(6mm)F

m2自攻螺丝(12mm)H m2自攻螺丝(18mm)A

C
ED

F

G

G

I

A

H

m2压铆螺母(2_1mm)I m2.5内六角螺丝 (16mm)G

高清版

高清版

底部圈圈螺丝

底部圈圈螺丝

底部压铆螺母

高清图传螺丝

电机长螺丝

顶部铝柱螺丝

顶部图传螺丝

电机短螺丝

顶部飞控螺丝

（侧面安装）

9

8


